| Efficiency vs Dxy |

> 0.1c ; . .
X - : : :
© r :
0 0.09F i R AR R
80.08F i b Rt R S SR
Q C :
O e A froeisde
© - : : :
O e e * ----------------------------
0.05F I e
s s S TS A T
0.03F +rerrioessbnees s S s s
0.02F++pvverfovss e e e
0.0 +ohevvsviervcdn *+. --------------------------------
.9 OEIIII:IIII:IIII:IIIIEII.IEIIIEIIII||||||||||||
"CE 12— -------------------------------- 1»-»-4: ----------------------------
S : {NE
0_9:_ ................................. ﬁ N S T U UL SO

08 E=55-15-10 =5

0 5 10 15 20 25
TP dxy (cm)

—=— DQM_TT__mkFit-DQM_mod-127

| Efficiency vs Dz |

—— DQM_TT__mkFit-DQM_mod_updated-127

0.5

N [ .
© C : : : :
L e S o R
2  F : : : :
§ 04 I S
(@) C H H H .
£ 0.35 e Froverereees Frrereeeener ARARERRR A
o C : : : :
R R e
025t e
02f i o
R S
(] R S SRS NS NI S
005 s e
0 W."FWM ‘ | | |

Ratio

0.9
0.8

0.7

20 30
TP dz (cm)

10



	Contents
	Page 1


